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0-[1} If the probability of 200000 women who tested negative for

breast cancer 10 get cancer in the next 5 years, if 10 tested

positive the probability is 1 getting breast cancer,what is the

relative risk of having breast cancer and tested positive

compared to having cancer and testimed negative

M= elA®)
e (aw®)

S

e

@)\3) JUEN Yok Ane coren i \’(vovx\'
of you LollewS ounormal distribwrion
nen find pir=60) 2

answer =D Zeve
QWY ~
, s question

Hypertension - Suppose 84% of hypertensives and 23% of normotensives are classi- =
fied as hypertensive by an automated blood-pressure machine. What are the PV*and \ S s\M\\ qr *6
PV- of the machine, assuming 20% of the adult population is hypertensive?
Solution: The sensitivity = .84 and specificity = 1 - .23 =.77. Thus, from Bayes’ rule *Me '& s
it follows that o [n

" 168/35/2[ 8:8 23)(8)] m wwk.’}

Similarly, PV-= (.77)(.8)/[(.77)(.8)+(.16)(.2)]
=.616/.648 = .95







